Algebra 6.3-Solving Inequalities 2015-Key.notebook December 07, 2015

How can we find the solution(s) to a linear inequality?
How is an inequality different from an equation?

What does it mean to solve?
¥ Find all values that make a sentence truel

Inequalities: <« isless than
is less than or equal to

is greater than
Is greater than or equal to

VIVI]IA

Solve each inequality and graph the solution.

EX 1. 2x -5« 7 ¥ Observation:
We used the same

7T steps as if we were
Ax < 1) solving an equation but
= “3_‘ we got an infinite
m number of solutions.
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Ex 2: —6y+8<—16
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+y Observation:
Multiplying or dividing
by a negative number
switches the
inequality symbol.

") Observation:
Graph an "open circle" if
the boundary is not a

>, solution to the inequality.
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Ex4: 23>5-6z
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Ex 6: 5(m+5)<5m+17
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